MATH 1110: REVIEW FOR PRELIM 1

. Every strictly increasing function has an inverse.
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. 'We know that cos x = x has a solution between x = 0 and x = 1.
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. If g(7) = 0 then the function ‘Jg% has a vertical asymptote at x = 7.
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. Iflin}lf(x) = 400 and lirr}lg(x) = —oo0, then lirrif(x) +g(x)=0.
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. We can use the Sandwich Theorem to evaluate the limit lim ——.
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. lirr(l) sin(1/x) = 0.
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. lim z%sin(1/z) = 0.
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The function x4f—x:+1 has no horizontal asymptotes. T @
horia . asyjiote o y=O-
*
A polynomial can have a horizontal asymptote. T @
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A polynomial can have a vertical asymptote. T/ @
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A rational function can have a horizontal asymptote. @ F
A rational function can have a vertical asymptote. @/ F
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We can find lin% (=8+x)" - 64 without doing any algebra. @ F
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If f is defined by f(x) = * 1 ¥ =" then f(x) = 0 must have a solution because
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f(-1) is negative and f(1) is positive. T /@
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My home is ~ 1.25 miles from Malott Hall (as the crow flies). At some point on my walk this
morning, I was exactly 0.5 miles from home. /' F
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